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Test:Physics
Attempt ......... questions
T A Temporary magnet which causes to flow e ad/ £2 LS - JLJ/ iz &.?g'(f/lc 1
current through a coil is: ) ik
(a) Magnetic field  (b) Electric intensity (@) A "@g‘ (b) WJ/? '
(c) Magnet (d) Electromagnet ©) .‘u}g‘ (d) &?ﬁ}? /
2 Adevi hich hanical i . . . 2
device which convert mechanical energy into et [ J:i G ‘ﬁ. }g’ }@/' ﬁg’ s

electrical energy.
. " L ) b
(a)  transfarmer (b) D.C motor @) 417 (b) /j// U;Lfg
Loy | o b“ i
(¢) A.CGenerator (d) Electroscope (© oG (d =

3 The direction of induced e.m.f in a circuit is in &WLU’}G'L&‘WW&//VJJW:U'}/M 3
accordance with the conservation of: - -

@ U by .

(a) Mass (b)  Charge ( )(’V .+df
(¢) Momentum  (d)  Energy © tvk @ g

4 Ifx=A.B, then x = 1 when. :ﬁjﬂ/ldx.JX?x=A.B/’/’ 4
(@) A=1,B=1 (b) A=0,B=I @) A=1,B=l1 (b) A=0,B=1
() A=0,B=0 (d A=1,B=0 (© A=0,B=0 (d A=1,B=0

5 B 5

6 The equation of Not operation is: :‘L;',DVJU?-{ Tl 6
(a) X=A.B (b) X=A+B (a) X=A.B (b) X=A+B
(© X=A-B (dy X=A (©) X=A-B (d) X=A

7 A ordinary flopy disk ean.store data up to: ~§-@3WJL/C}£’“Q5£~65QW(V-«Q 7
(a) 1 to 3 megabyte/ i(b) 2 to 3 megabyte (a) LAl€r3e1 (b) LAlE32
(c) 3 to S megabyte  (d) 6 to 10 megabyte () LA l€s53 (d) 2 L€+106

® A device used to transport files one computer to g e ’/"uﬁ/"{'f,{; /»L/"{‘;{..gf}’/@ﬁu@;‘ &ug 8
another. % .

- dn e

(a) Compact (b)  laser (@) L3 .»E;’/ (b) 2
(c) flashdriver (d) printer © s @ s

9 During natural radioactivity how many types of ¢ U?G PR J(B u;t(d’/ﬂ L& ;( i, ﬁ 9

radiations are emited.

@ 1 (b) 2 (a) 1 (b) 2
(¢ 3 (d) 4 (©) 3 (d) 4

"% When an element release an alpha particle its lf{ ALy ’}‘Lt'/’/ @/uﬁgww Lot i 10
atomic number will be: N
(a)increased by one  (b) Not change () Elbox L (b) @"{ U:‘O/ &[ ’
(c)Reduce by one  (d)Reduce by two (© gjlgn(;g (d) Ebw f;
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